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Ⅰ 　次の英文を読んで、各問い（問１～問８）に答えよ。

　Sometimes the best medicine is no medicine. It’s  what doctors call a  When the 

problem isn’t serious, they may give it to patients（ １ ）real medicine. A  placebo 

doesn’t have any real medical effect. It  may be just a sugar pill. But when a doctor gives 

a patient a placebo, it often helps.

　How does the placebo work?  Scientists say it only works  if you believe that it’s real 

medicine. Then,  because you expect to feel better, you really  do feel better－even if the 

pill just has sugar in ⑵it. However, if you find out that it’s only sugar, it won’t work for 

you（　3　）.

　The  effect of a placebo is both psychological and physical. In fact, beliefs and feelings 

can have physical effects on your body. Scientists saw this in an experiment about pain. 

The  people in the experiment had a painful shot in their face. Then  they were given a 

placebo. But  they weren’t told it was a placebo; they were told it was a painkiller. Soon 

the people felt less pain. How was this possible? Their  brains began making a natural 

painkilling chemical.

　Sometimes it’s hard to understand how a placebo works.　⑷［ and /  on /  a lot /  the 

doctor /  the way /  depends ］ he or she talks  to you. If  the doctor seems very  certain 

and uses a serious voice, the placebo is more likely  to help.

　Doctors may give a patient a placebo for many kinds of problems that have no clear 

cause.（ ５ ）, they are sometimes given for skin problems, for headaches, or for 

allergies. Studies have shown that placebos can really  help in these cases. Doctors also 

sometimes give a placebo to people who are anxious or depressed. There  may be as much 

全員必答　Ⅰ ～ Ⅲ は必ず解答すること。
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improvement after a placebo as after real medicine. And there are ⑹two big advantages 

to a placebo. It  has no side effects, and it is inexpensive.

　There  are many reasons for doctors to use placebos. However, some doctors have 

doubts about how well a placebo really  works.  These  doctors prefer  to give real 

medicine, just in case. Other doctors have a different reason for not giving placebos. 

They  don’t want to tell lies to their patients. In fact, the placebo effect only works  if the 

doctor tells a lie. If  the patient finds out the truth, how can he or she trust  the doctor in 

the future?

　問１　空所（　１　）に入れるのに最も適当なものはどれか。 1

①　because of

②　instead of

③　in spite of

④　without

　問２　下線部⑵が示す語句はどれか。 2

①　the placebo

②　real medicine

③　the pill

④　sugar

　問３　空所（　３　）に入れるのに最も適当なものはどれか。 3

①　anymore

②　no longer

③　as well

④　so far
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　問４�　下線部⑷を意味が通るように並べ替えたとき，２番目と４番目に来る組合せはど

れか。 4

①　２番目： depends 	 ４番目： the way

②　２番目： a lot	 ４番目： on

③　２番目： depends	 ４番目： the doctor

④　２番目： the way	 ４番目： a lot

　問５　空所（　５　）に入れるのに最も適当なものはどれか。 5

①　On the other hand

②　However

③　In a sense

④　For example

　問６　下線部⑹の具体的な内容として最も適当なものはどれか。 6

①　負担が少なく貴重であること。

②　効き目が強く安いこと。

③　副作用がなく高価でないこと。

④　服用しやすく価格が妥当であること。

　問７　本文の内容に合うものは次のうちどれか。 7

①　いかなる症状に対してもそれぞれに適したプラシーボが存在する。

②　プラシーボには本物の薬と全く同じ効果があると考える医者もいる。

③　たいていの場合プラシーボを使用することが最善の治療法となりうる。

④　患者に嘘をつくことに抵抗を感じプラシーボを使用しない医者もいる。

　問８　本文のタイトルとして最も適当なものはどれか。 8

①　How The Placebo Effect Works

②　The Beliefs About Placebos

③　The Experiments With Placebos

④　The Way Doctors Give Placebos
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Ⅱ 　次の各問い（問 1～ 問10）の空所を補うのに最も適当なものを、それぞれ下の

　　① ～ ④ から１つずつ選べ。

　問１�　This novel describes the scenery in Canada so vividly that it makes you 

9  as if you were in Canada.

	 ①　feeling	 ②　felt

	 ③　feel	 ④　to feel

　問２　Tom was afraid of being scolded for not 10  done his homework.

	 ①　being	 ②　to be

	 ③　having	 ④　to have

　問３　I was about to go out, 11  the phone began to ring.

	 ①　when	 ②　which

	 ③　that	 ④　what

　問４　Jacob was lying on the bed with his 12  then.

	 ①　arms folded	 ②　arms folding

	 ③　arms in fold	 ④　arms to fold

　問５�　If my grandfather worked harder those days, our business 13  more successful 

now.

	 ①　had been	 ②　could have been

	 ③　would be	 ④　is

　問６　The soccer match between Spain and Brazil was 14  .

	 ①　to excite	 ②　excitement

	 ③　excited	 ④　exciting
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　問７　 15  the writer of this song is?

	 ①　Do you think	 ②　What do you think of

	 ③　Who do you think	 ④　Whom do you think

　問８　The doctor recommended that Steve 16  more exercise.

	 ①　will get	 ②　get

	 ③　gets	 ④　is getting

　問９‌�　Mary was 17  a well-qualified woman that she got the new job immediately.

	 ①　as	 ②　but

	 ③　so	 ④　such

　問10　My car 18  out of gas on the way home last night.

	 ①　took	 ②　got

	 ③　made	 ④　ran
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Ⅲ �　次の各問い（問 1～問 5）において、それぞれ下の ① ～ ⑤ の語句を並べかえて

空所を補い、文を完成させよ。ただし、解答は 19  ～ 28  に入れるものの

番号のみを答えよ。

　問１　ビルは家に帰って初めてそれを知った。

　　　　　　　　 　　　　 　　　　 　　　　 　　　　 that.

	 ①　that	 ②　not until	 ③　it was

	 ④　Bill came home	 ⑤　he knew

　問２　あなたは何人の人がその事故現場にいたかわかりますか。

　　　�　Do you 　　　　 　　　　 　　　　 　　　　 　　　　 were at the scene of 

the accident?

	 ①　how	 ②　know	 ③　many

	 ④　people	 ⑤　there

　問３　私たちは悪天候のせいで登山できなかった。

　　　　We couldn’t 　　　　 　　　　 　　　　 　　　　 　　　　 .

	 ①　the bad weather	 ②　because	 ③　climb

	 ④　of	 ⑤　the mountain

　問４　週末までには携帯電話を修理してもらおうと思っています。

　　　　I’ll 　　　　 　　　　 　　　　 　　　　 　　　　 weekend.

	 ①　my cell phone	 ②　have	 ③　the

	 ④　by	 ⑤　repaired

　問５　ライアンは私がかつて持っていたよりも３倍多くの本を持っている。

　　　　Ryan has 　　　　 　　　　 　　　　 　　　　 　　　　 to.

	 ①　as many	 ②　as I	 ③　books

	 ④　three times	 ⑤　used

19 20

21 22

24

26

28

23

25

27
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Ⅳ �　次の対話文の 29  ～ 34  に入れるのに最も適当なものを、それぞれ下の

① ～ ④ から1つずつ選べ。

　問１　Ａ:　Those are very beautiful flowers.

　　　　Ｂ:　Yes, they are. I’m going to give them to my mother for her birthday.

　　　　Ａ:　 29 　 I’m sure she’ll be very happy.

①　That’s kind for you.

②　That’s kind of you.

③　That’s kind thing.

④　That’s kind to do.

　問２　Ａ:　We need a design for the logo on this T-shirt.

　　　　Ｂ:　Do you have any ideas?

　　　　Ａ:　No, I don’t. Do you?

　　　　Ｂ:　 30  

　　　　Ａ:　Great! That perfectly matches the concept of the logo.

①　Colors of leaves are very beautiful.

②　How about leaving here at 5:30?

③　What do you think about leaves?

④　We should leave here immediately.

※教養学部志願者のみ解答すること。
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　問３　Ａ:　That’s a very nice suit, isn’t it?

　　　　Ｂ:　Yes, I like it very much.   31

　　　　Ａ:　Certainly. The dressing rooms are this way.

①　Can I tell you more about it?

②　Would you mind if I get dressed?

③　May I try it on?

④　Can I take it out?

　問４　Ａ:　What are your plans this weekend?

　　　　Ｂ:　I’m very busy. I have a lot of things to do. What’s up?

　　　　Ａ:　I was just wondering if you would like to play tennis with us.

　　　　Ｂ:　 32

①　I’d love to, but I don’t have any free time until next Tuesday.

②　Sure. What time shall we meet?

③　Where do you keep your racket?

④　When you’ve decided, let me know please.

　問５　Ａ:　Have you seen my cell phone?

　　　　Ｂ:　 33

　　　　Ａ:　It’s a blue one with black lines.

①　What does it seem?

②　How do you like it?

③　What does it look like?

④　How long does it take?
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　問６　Ａ:　Excuse me. Could you take our pictures?

　　　　Ｂ:　 34

　　　　Ａ:　This one.

　　　　Ｂ:　Do I have to focus it?

　　　　Ａ:　This is an auto-focus camera. Just point and press the button.

　　　　Ｂ:　All right. Say cheese!

①　Sure. What do you want me to take?

②　Of course. Do you have another camera?

③　OK. Which button do I press to shoot?

④　Well, which picture do you want?
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Ⅴ （い問各、でん読を文英の次　 問 1～問 7）に答えよ。

　“Work  more to earn more” was former French  president Nicolas Sarkozy’s  refrain  in 

his 2007 election campaign. But  does working more hours mean the economy is better 

off?

　（ １ ）. Take  Greece, where the average number of hours worked per worker  is 

among the highest in the OECD  area, second to Korea.  And while in Greece the number 

of hours worked has steadied since the crisis  started, averaging 2,121 hours per worker  

per year  in 2008－2010, in Germany each worker  clocked up 1,412 hours per year  in the 

same period, down from 1,431 hours in 2005－2007.

　So, why is the Greek economy not doing better than the German one? There  are 

a number of factors at play. For  a start,  the employment rate is higher in ＊robust 

economies such as Germany and Sweden, at over 70% of the workforce, than in Greece, 

（ 2 ） it has hovered at around 60% for a decade. Economic structure  also counts, 

with some low skilled services  jobs, in catering and tourism for instance, being labour 

intensive but less productive than, say, manufacturing technology where value-added 

is high. The  trouble is, while productivity  is much lower in Greece than in Germany, 

wages are not correspondingly lower, which makes many Greek firms uncompetitive.

（ 3 ）, higher real output per hour worked is generally associated with lower annual 

hours per worker,  so that working long hours is ⑷［ more /  not /  for /  to /  earn /  

enough /  countries ］ .

注　＊ robust: しっかりした

※薬学部志願者のみ解答すること。
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　問１ 　（ア），（イ），（ウ），（エ）に対応する国名の組合せが、その順に示されている。

最も適当な配列はどれか。 35

①　Sweden ― Korea  ― Greece ― Germany

②　Korea  ― Germany ― Greece ― Sweden

③　Germany ― Greece ― Korea  ― Sweden

④　Greece ― Sweden ― Germany ― Korea

2500

（ア） （イ） （ウ） （エ）

2000

1500

1000

500

0

Au
str
alia Sp

ain US

OE
CD
 to
tal

Hours worked per worker
Average annual working time 2008-2010

Employment Rate

% of working age population, 2010

Australia （ア） （イ） （ウ） Spain （エ） US OECD
total

72.4% 71.2% 59.6% 63.3% 59.4% 72.7% 66.7% 64.6%
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　問２　空所（　１　）に入れるのに最も適当なものはどれか。 36

①　Yes, it does

②　Certainly

③　Not necessarily

④　Anyway

　問３　空所（　２　）に入れるのに最も適当なものはどれか。 37

①　which

②　where

③　when

④　in that

　問４　空所（　３　）に入れるのに最も適当なものはどれか。 38

①　In short

②　In the case

③　For instance

④　At most

　問５�　下線部⑷を意味が通るように並べ替えたとき，２番目と５番目に来る組合せはど

れか。 39

①　２番目： not	 ５番目： more

②　２番目： enough	 ５番目： to

③　２番目： to	 ５番目： countries

④　２番目： enough	 ５番目： more
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　問６　本文の内容に合うものを２つ選べ。 40 　 41

①�　2010年，オーストラリアにおける失業率はOECD加盟国の平均値よりも高いと

言える。

②�　アメリカ合衆国では労働者１人あたりの年間労働時間も就業率もOECD加盟国

の平均値に近いと言える。

③　概して，労働者１人あたりの労働時間が長ければ長いほど国は豊かになる。

④　通常，仕出し業や観光業には製造業に比べてより専門的な能力が要求される。

⑤�　ドイツと比較して，ギリシャの生産性ははるかに低いが人件費はそれほど安い

わけではない。

⑥�　ドイツでは観光業に従事している労働者の割合がギリシャよりも高いことが分

かる。

　問７　本文のタイトルとして最も適当なものはどれか。 42

①　Greece And Germany

②　Work More

③　Productive Hours

④　The Greek Economy










